EAGRAROBREERT — 2 N— ABISH —F 2020568280 (H) 4EEH4H8

m C3—7 C3 #5%—M ECEE R
[A&4£] 1 7 :400,000 @ ~ 2 3#&:140,000  ~ 33#&:80,000 ~ 43#%&:60,000™ . 53 :40,000 9
& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
> : : Bl 15k 22, -2-2- 3 - WAEEE) (FH)
1 AT RS 44 gl 1(2_2)7 2-2-2-1 |38.3 1 ;1:113) qﬁmﬁﬁm
R:d—IWK7Y21—)b B:FT74=Zy b BhEFREMISHIVATHRS
= SN FREER :23. —6-3- = B (FH)
5 NEEPEPS i 5 ok 1(223)1 7-6-3-2 | 38.6 2 (4:1‘8 gnﬂné_
L:TUYHA XTI R B:bL—>5C1 Iy AR
PPN L5 : 44— — B (FH)
3 o | FELTULZ i 5 L% 1.(231’;).8 3-4-4-3 | 39.2 4 ;1_715; /J\%;gﬂ\
xEL/HTT BANIFHhF v mit ik
95, 5@ N Rl : 55— - HE= (SH)
alsls|onsFs T 4 3 e 1.(265).0 5-5-5-5 | 40.3 3 ;1:347) PP
LiFNT =TIV BNRIN=I2FTT milll B&E
o= s N s ZHEHD 125, —7-7- . — THEET (5H)
508(10 T2 X vwlb~< > T ;55.0 1(215)2 6776 | 40.2 ° :1_818) gl .
R:Tw TRy v B:hTTIVR=7 HE77—»4L
= o= . £ 6 | LEFEFE 1:25.7 8-8-8-7 | 40.0| — 7 503 | ELLHAE ()
68|11 TATRKF—4 77 6.0 @ 172 Lo | XEBE
AL TAT v — B:ARF5AT—> (B) #HAEI-FL—Ya>AET7
3 o7 | EEEH 1:26.0 1-1-1-4 417 — 6 481 | BHRE= (SH)
71111 A1 T3 '77& h¥ 56.0 ' (11/2) -2) (R) J P N#Hf
RiwYUETyk BiXE/YLYHE 2]z Le
= - R N KiEHHER : -9-9- - #lEE (FH)
8 6| F1TT ALY —H 45 2 1.(226).4 9-9-9-9 |39.6 1 zzg)e miss
RW—5—-2y7 B:dy b —H BRiA YRS
S5 . 4 5 | EEE 1:26.5 10-10-10-10{ 39.2 | — 10 | 441 | BBEEEH (SH)
9l7l9| bV ¥—FE—-Y *50.0 (3/4) 2 | B = TN
R RYTZYXIR BN FEZYL P EL e
S . o EE—R 126. -3-6- . = NBEE (FH)
10l7l 8| prsxY—F—14 4 3 N 1(226)9 4-3-6-8 | 42.1 8 ;1_2113) s
L:xF T R=—LhL B:k—TT717U— BEERS
s . i 4 | EFRNE) 1:27.4 11-11-11-11{ 40.0 | — 9 450 | FEILEE ()
EH AR NN 54.0 2 1/2) Cry | W FTIYF
LNZ—ka21—2Z B:VLIN-FK J=HrTp—L
® 1 —F—EBIERL
1=3—F— 1,3,2,8,5,10,4,11,6,9,7
23 =7= 1,3,8,2,5,4,10,11,6,9,7
30—4— 1,3,4,2,5,8,10,11,6,9,7
43—F— 3,4,2,1,5,10,11,8,6,9,7
[ N3
BB 3 210M 714K 3-4 140H e 3-4 490M 3JEHE 2-3-4 440M
8 B 3 1309 2-3 210M B = 3-4 340M K31 3-4-2 1,840
4 130 2-4 20| | B B 3-4 720M
2 170

ARICOVWTRDTEEERROODE. TR LI,




